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PHYSICAL EDUCATION
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Insufficient amount of exercises refers to :
(A) Ergonomics (B) Anaerobics
(C) Kinetics (D) Hypokinetics
2.  Plato was known as the father of :
(A) Naturalism (B) Realism
(C) Idealism (D) Pragamatism
3.  First meeting of International Olympic committee was held in :
(A) Athens (B) France (C) Sweden (D) Greece

4.  Skinner propounded :

(A) Feedback theory of learning
(B) Gestalt theory of learning
(©
(D)

Stimulus response theory of learning

Operant conditioning theory of learning

5.  The term group Dynamics refers to :
(A) Composition of group

(B) Competitiveness for supermacy

(©

(D)

Intra group fighting
Energy and vitality of group

6.  Reciprocal innervation is called when :
(A) Agonist muscles contract and antagonist muscles relax
B) Both Agonist and antagonist muscles relax

Both Agonist and antagonist muscles contract

D) None of the above

7.  Muscle biopsy technique is used to determine :
(A) Muscle typing (B) Muscular strength
(C) Muscular speed (D) Muscular endurance
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10.

11.

12.

13.

14.

15.

A. T. P is used for muscle contraction as :
(A) Primary source (B) Secondary source

(C) Immediate source (D) Intermediate source

Lack of fitness can cause :
(A) Loss of fluid (B) Loss of weight
(C) Muscle cramps (D) Sleeplessness

Injury to medial - meniscus is common in :
(A) Volleyball players (B) Basketball players
(C) Tennis players (D) Football players

Elbow joint is formed with the following bones :
(A) Ulna, Radius and Femur (B) Ulna, Femur and Fibula
(C) Ulna, Radius and Humerus (D) Radius, Ulna and Maxilla

Linear motion is an example of :
(A) Curve running (B) Straight running
(C) Running high jump (D) Running long jump

Towards late primary schooling, the emphasis should be laid on :
(A) Individual development

B) Individual development as member of the group

Both (A) and (B)

Neither (A) nor (B)

Which of the following is not related to the school health programme :
(A) Health education (B) Hygiene
(C) Keeping health records (D) Cure diseases

Duration of micro-cycle is :
(A) 3 to 12 months (B) 3 to 6 weeks
(C©) 3 to 10 days (D) 1 to 2 weeks
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16.

17.

18.

19.

20.

A faster adaptation process occurs to :
(A) Beginners (B) High performers

(C) Moderate performers (D) Experienced performers

Test and Retest is a method to establish :
(A) Validity (B) Reliability
(C) Objectivity (D) Subjectivity

Using short method, the standard deviation of distribution can be calculated as :

N Efx2 Efx 2
Efx B —  (© e D) s VEX

N N N

Roger’s strength test consists of :
(i) Hand grip test

(ii) Leg strength test

(iii) Back strength test

(iv) Arm strength test

Code :

(A) (i) and (ii) are correct

(B) (i) and (iii) are correct

(C) (iii) and (iv) are correct
(D) (i), (ii) and (iii) are correct

Hewitt Tennis test includes :

(i) Fore hand drive placement
(ii) Drive for distance placement
(iii) Back hand drive placement

(iv) Service placement

Code :

(A) (i), (ii) and (iv) are correct

(B) (i), (ii) and (iii) are correct

(C) (ii), (iii) and (iv) are correct
(D) (i), (iii) and (iv) are correct
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21. Match List - I with List - IT and select the correct answer using the code given below :

List - 1 List - I1
(a) Kraus-Weber test (i) Badminton
(b) J.C.R. Test (i) Cardiovascular
(c) Tuttle pulse ratio test (iii) Motor ability
(d) Miller wall volley test (iv) Muscular strength
Code

(@ () (o (@)
(A) @) @@ (@v) (i)
B) Gv) @ (D) (i)
(© Gv) (@) @) @)
(D) @) (@) @) @Gv)

22. Match List - I with List - IT and select the correct answer using the code given below :

List - 1 List - 11
(a) Oxygen i) 21% approx
(b) Carbondioxide (i) 0.04% approx
(c) Nitrogen (iii) 0.79% approx
(d) Particles of soil (iv) Small quantity
Code

(@ ((b) ( (@
(A) @ @) @) (@v)
B) @ @) (@v) (i)
© @ @ (@v) (i)
D) @ @) @G (v)

23. Health and safety skills can be taught in the school through :
(i)  Firstaid
(i) Medicine prescription
(iii) Safety education

(iv) Driver education

Code :

(A) (i), (ii) and (iii) are correct

(B) (ii), (iii) and (iv) are correct
(C) (i), (iii) and (iv) are correct
(D) (i), (ii) and (iv) are correct
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24.

25.

26.

27.

28.

Bicep muscle attached on the forearm acts as :
(A) First class lever (B) Second class lever
(C) Third class lever (D) None of the above

PPBES stands for :

(A) Planning, Programming, Budgeting, Education and System
B) Preparing, Programming, Budgeting, Entry and System
Planning, Preparation, Balancing, Education and System

Planning, Programming, Budgeting, Evaluation and system

First four World-Cup Championships in Foot-Ball were sequentially organised by the
following countries :

(A) Brazil, France, Italy, Uruguay

(B) France, Brazil, Uruguay, Italy

(C) Uruguay, France, Italy, Brazil

(D) Uruguay, Italy, France, Brazil

Identify the sequential order of the position of participants in High pump :

Participants Performance
. 1.75M | 1.80M | 1.85M
XO | XXO | XXX
R @) XXO | XXX
S XXO | XO | XXX

O = Cleared X = Failed
y (1) (II)

—~
—

(A) B S R
B S R B
(CO R S B
M) B R S

Pentathlon events are arranged in following order :

(A) Long jump, Javelin throw, Discus throw, 200m run
B) Long jump, Discus throw, Javelin throw, 200m run
Javelin throw, Discus throw, Long jump, 200m run

Discus throw, Long jump, Javelin throw, 200m run

J—4707 10
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29. Arrange the following places in correct order of hosting first four Olympic games :
(i) Athens
(if) Paris
(iii) St. Luis
(iv) Athens

Code :

(A) @) @) (3D (@Gv)
B) (@) @) @) (@)
Q) (@v) @) (D) (i)
D) @ @) (v) (i)

30. Identify the correct order in which the Olympic motto appears :
(A) Altius, Citius, Fortius
B) Fortius, Citius, Altius
) Citius, Altius, Fortius
D) Citius, Fortius, Altius

31. Arrange sequentially the steps of good lession presentation :
(i) Introduction

(i) Demonstration

(iii) Practice

(iv) Explanation

(v)  Observation and Supervision
Code :

(4) @ Gv) @ @) ()
B) @ @ 3) @) ()
© @ @ 3@ () (@)
O) @ @) G (v) ()

32. Arrange sequentially the following period of history of Physical Education :
(i)  Vedic Period
(ii) Indus Valley Civilization Period
(iii) Medieval Period
(iv) Hindu Period

Code :

(A) (i), (i), (iv), (iii)
(B) (i), @), (v), (i)
Q) (iv), (i), (iid), (ii)
(D) (i), (i), (iv), (i)
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33.

34.

35.

Match List - I with List - II and select the correct answer using the code given below :

List - 11
Basket Ball
Atheletics
Hockey

Tennis

Match List - I with List - II and select the correct answer using the code given below :

List - 11
Soldier
Civilian
Agriculture
Coach

Match List - I with List - II and select the correct answer using the code given below :

List - 1
(a) Ajmer Singh
(b) Daleep Tirkey
(c) Mahesh Bhupati
(d) Paramyjit Singh
Code :
(@) (b)
(A) (@) (i)
B) @v) ()
(©) (i) (i)
(D) (i) (iii)
List - 1
(a) Darona-acharya
(b) Udyan Pandit
() Veer-Chakra
(d) Bharat - Rattna
Code :
(@) (b)
(A) @) ()
(B) (i) (iv)
(©) (v) (iii)
(D) @v) (i)
List - I
(a) Volleyball
(b) Basketball
(c) Golf
(d) Tennis
Code :
(@) (b)
(A) (@) (i)
B) @) @
(© @) (v)
(D) @) ()

14

List - II
Jump ball
Libro

Par

Double fault
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36. Match List - I with List - IT and select the correct answer using the code given below :
List - 1 List - I1

(a) Drug increasing alertness (i) Beta blockers
(b)  Psychological stimulation (i) Anabolic steroids
(c) Testosterone harmone (i) Narcotic analgesics
(d) Stimulatory responses (iv) Stimulation
Code
(@ ((b) (o (@
(A) Gv) () @) ()
(B) @) (@) (v) ()
© @ (@) @@ @)
(D) Gv) @ @) ()
37. Match List - I with List - IT and select the correct answer using the code given below :
List - I List - 11
(a) Asana (i)  Self realisation
(b) Pranayama (i) Concentration
() Dharana (iii) Breath control
(d) Samadhi (iv) Posture
Code :
(@ ((b) () (@
(A) Gv) () G ()
B) @) (v) (D) (i)
© Gv) @ (D) ()
(D) @) @@ (v) ()

38. Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : Of all the principles of sports training, the principles of Training load
and administering recovery is most important.

Reason (R) : Any mistake in adhering to this principle will prevent the sports person
from attaining high performance.

(A) Both (A) and (R) false
(B) Both (A) and (R) true
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

J—4707 16
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39.

40.

41.

42.

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : It is possible to identify why people usually participate in sport and
exercise. We need to remember that motives for participation vary
greatly and can be unique to each individual.

Reason (R) : Personal political interests may be contributing to their motives for
involvement in particular sports.

(A) (A) is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) and (R) false

(D) Both (A) and (R) true but (R) is not the correct explanation

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : A training load producing super compensation effect can be used again
to farther improve training state.

Reason (R) : After the occurrence of super compensation, load should be increased
during the next adaptation phase.

(A) Both (A) and (R) false
(B) (A) is true but (R) is false
(C) Both (A) and (R) true
(D) (A) is false but (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :
Assertion (A) : Insulin is ineffective when taken by mouths.

Reason (R) : Because it is destroyed in elementary canal and because the size of
molecule is too large for intestinal absorption.

(A) Both (A) and (R) false
(B) (A) is true but (R) is false
(C) Both (A) and (R) true
(D) (A) is false but (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : The ticket prices to sport events are primarily a function of the
spectators demand for tickets.

Reason (R) : The average incomes of spectators in the area in which the event is
being held.

(A) Both (A) and (R) are true and (R) is true explanation of (A)

(B) Both (A) and (R) are true and (R) is not true explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : The mass media limit and define our perspectives on the sports we
consume through them.

Reason (R) : The mass media off set and sometimes reverse the effect of
commercialization of sports.

A) Both (A) and (R) are false

B) Both (A) and (R) are true but (R) is not true explanation of (A)
C
D

(A) is true but (R) is not true explanation of (A)
(A) is true but (R) is false

(
(
(©
(D)

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : Skill learnt through training in one learning situation can be
Transferred and applied to another situation.

Reason (R) : Skills learnt in Tennis can be transferred to learn Gymnastics skills.
(A) Both (A) and (R) are false

(B) (A) is true but (R) is false

(C) Both (A) and (R) are true

(D) (A) is false but (R) is true

Make the correct choice from the Assertion (A) and the Reason (R) given below :

Assertion (A) : The learned behavior that is transmitted is recognised as human
culture. It is a way of thinking believing and acting.

Reason (R) : A child is born in a culture and his actions are guided by that culture.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) false and (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Read the passage below and answer the questions that follow based on your
understanding of the passage :

As a morally and physically weak Roman Empire crumbled, morally and
physically strong Teutonic barbarions overran the lands that once were the pride of the
Latins. The visigoths overran Spain, the vandals overran North Africa, the Franks
overran Gaul, the Angles and Saxons overran Britain and the ostrogoths overran Italy.
These invasion brought about the lowest ebb in literature and learning known to history.

Out of Pagan and immoral Rome, christianity and asceticism grew and thrived,
certain individuals in Rome became incensed with immorality and Worldliness that
existed in Roman society. They would not worship the Roman Gods, attend the bath
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or visit the games. They thought that all sorts of physical activity were foolish pursuits
in that they designed to improve the body. They preached that the mind and body
were distinct and separate entities in man and one had no bearing on the other. The
christian Emperor Theodosius abolished the Olympic games in A.D. 394 as being Pagan.

Christianity believed that evil exists in the body, and therefore it should be
subordinated to the spirit, which is pure. The body is possessed of the devil and should
be tortured. Such practices led to poor health and shattered nervous systems on the
part of many. As christianity spread, monasteries were built where christians could
isolate themselves from world and its evil. Later, schools were attached to these
monasteries but early christianity would not allow physical education to become a part
of the curriculum. The medieval university also frowned on physical education.

Another influence that has had a major impact on the history of physical
education is scholasticism —the belief that facts are the most essential items in one’s
education. The key to a successful life is knowing the facts and developing one’s mental
and intellectual powers. Scholasticism de-emphasized the physical as an unimportant
and unnecessary. This movement developed among the scholars and universities of
the middle Ages.

Angles and Saxons over run Britain, similarly Rome was over run by :
(A) Ostrogaths (B) Franks
(C) Teutonic (D) Visigoths

Roman had faith in :
(A) Christianity (B)  Asceticism
(C) Morality (D) None of the above

Olympic games were abolished by :
(A) Romans (B) Greeks
(C) Christians (D) Latins

The concept of body’s subordinate to script was evoked by :
(A) Christianity (B) Monastery
(C)  University (D) Schools

History of Physical Education was influenced by :

(A) Scholasticism (B) Development of mental powers
(C) De-emphasis on physical (D) All the above
-00o0-
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